
QUIZ 3  3-1-3-3    MATH 241   THOMPSON 

 

 

 

Determine the class midpoint of each class by adding 

consecutive lower limits and dividing by 2.  

  
𝟔𝟏+𝟔𝟓

𝟐
= 𝟔𝟑 

  
𝟔𝟓+𝟔𝟖

𝟐
= 𝟔𝟔. 𝟓……. last us 80-1 = 79 

   Make a separate column of the CLASS MIDPOINT 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

STATCRUNCH 

STAT-SUMMARY STATS – GROUPED/BINNED 

Bins in: var3 

Counts in: Frequency 

• Limits (since it is the midpoint) 

Mean then Std. dev  

 



 
STATS – SUMMARY STATS – GROUPED/BINNED  *make sure to click consecutive lower limits!! 

 

 

STATS – SUMMARY STATS – GROUPED/BINNED DATA – mean and unadj. St. dev   

 

 

       STATS – SUMMARY STATS - COLUMNS 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

STATS – SUMMARY STATS – COLUMNS 

         UNAD. ST.DEV 

 

For the samples make separate column 

for specific people in the sample 

 

 

 

 

 

 

 

 



 

 

 

     95% is 2 std devs    320-2(35)    and 320+2(35) 

     320 – 285 = 35 means one std dev 

     320-285 = 35    355 – 320= 35      *it is on the outside -100-68 

          320-250=70 is 2  425-320=105 is 3 

  FROM EMPIRICAL RULE GRAPH   13.5+34+34+13.5+2.35=97.35 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

STATCRUNCH 

STAT- SUMMARY STATS-

COLUMNS 

MEAN OR MEDIAN 

 

 

 

 

STATCRUNCH 

STAT- SUMMARY STATS-COLUMNS 

STATISTICS – Std. dev 

for s = SAMPLE 

COMPUTE 



STATCRUNCH (MEAN) 

STAT- SUMMARY STATS-COLUMNS 

highlight the column you need 

STATISTICS – mean, media then mode 

COMPUTE 

 

STATS – SUMMARY STATS – COLUMNS – ST.DEV 

 

 

Grade value X hours and compute the total for all classes divided by total 

number of hours taken. 

  
𝟐(𝟏)+𝟏(𝟏)+𝟒(𝟑)+𝟒(𝟓)

𝟏𝟎
= 𝟑. 𝟓 for total hours count the numbers 

        in parenthesis 

 

 

 

 

 

 

 

 

            click on the column you need then 

         hold the Ctrl button to highlight 

                    mean, median and mode to compute all at once 

Change 7.47 to the new # they give you in your statcrunch table and calculate the new mean 

   for that column.     

The property of the median illustrates the resistance of the median 



 

 

 

Sample mean is  x 

Population mean is µ 

 

 

 

(1 −
1

22
) = 75% 

 

         

 

(1 −
1

2.52
) = 84%   

 

 

µ - 2.5 = 28.3 – 2.5(7.6)=9.3 

 µ + 2.5 = 28.3 + 2.5(7.6)=47.3    

 

  

 

Find the standard deviations are away from the mean    

 [Mean – one of the scores] →   28.3-5.5 = 
22.8

7.6
= 3 then (1 −

1

32
) = 88.89% 

  

ANOTHER WAY ----  mean + s.d. until you get 51.1 

   28.7 + 7.6 = 36.3 + 7.6 = 43.9 + 7.6 = 51.5 

    3 standard deviations: (1 −
1

32
) = 88.89%  


